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BEERRE SHSEEE S BREREAEE AT RE

£ g - AKTiE B H =2 i & 8 m =
EZHEE 22,467, 298
HE - AEFEHE 2,939, 625
HE - AESFEHE 2,939, 625
AEEE 322,493
AEEE 322,493
1 REERE 1.00 322,493 322,493
=
FERA=E 2,617,132
FERA=E 2,617,132
2 BMER QEELY) 1.00 82,156 82,156
=
SBETRH 1.00 229,016 229,016
=
4 BEAZRR (BW) 7.50 10, 439 78,292
km
b ERAIFE (FEth) 74.10 11, 384 843,554
km
6 FEEIER 1.00 1,384,114 1,384,114
=
KEREREEH 19, 527, 673
KEIRERE 19, 527, 673
KEHRE 4,054, 528
KEHRE 4,054, 528
7T KEHRE (E=420VVY) 40.00 24, 652 986, 080
Hh £




BENRE SHSEEESERENESET_4L T RE
8 KEHAE (BIRFE) 88.00 33, 468 2,945,184
5
9 KEHRAE (EW) 4.00 30, 816 123, 264
o5
EZHREE 1,593, 089
EZHREE 1,593, 089
10 £ (EEREQ), EEEYRE 80. 00 12,040 963, 200
i)
5
11 i (EEHRE Q) FEih) 7.00 41,175 288, 225
o5
12 2R (EEAEQ), BEXANAE Q) 24.00 14,236 341, 664
D)
o5
BKAE 1, 709, 250
BKAE 1, 709, 250
13 BAAE 1.290.00 1,325 1,709, 250
m
BNERE 1, 403, 280
BNERE 1, 403, 280
14 BNERESARER (FEih) 40.00 35, 082 1, 403, 280
o5
SHER 366,174
ELERK 366, 174
15 S ELE M 1.00 366,174 366,174
=
SR ER 6, 333, 960
SR ER 6, 333, 960




BEERRE SHSEEE S BREREAEE AT RE

16 S HrEtER 1.00 6, 333, 960 6, 333, 960

=
BB RMER 246,137
B RMER 246, 137
17 EREAEMAERL 1.00 246, 137 246,137

=
RIBAEREE 182, 406
RIBRAEREBE 182, 406
18 RERERAEREE 1.00 182, 406 182, 406

=
HMEEERK 2,585, 640
HMEEERK 2,585, 640
19 |EEER (E=42 Y VTRE) 1.00 663, 287 663, 287

=
20 |EEER (EFRE) 1.00 816, 706 816, 706

=
21 HEEEK (Z0MAE) 1.00 1,105, 647 1,105, 647

=
EEEE 1,053, 209
TEEHRMR 903, 209
22 REERM 1.00 903, 209 903, 209

=
EBHRER 150, 000
23 EBRES 1.00 150, 000 150, 000

=




RiEx SHSEESSBBEREHET-FILIAE
% g - AKTiE Bifr = fiff & #B

EEUER 19,453,115
HRE 13,119,155 x 64.3% — 8 731 8,426, 885
BIBELE 19,453, 115 + 8,426, 885 27,880, 000
E R 2,984,340 + 29,843 3,014,183
EEAGE 2,984, 340
EEEE 29, 843
T DAt 2,984,340 x 53.85% ( 35% = (1 — 35% ) ) 1,607,067
EHRIE 3,014,183 + 1,607,067 4,621,250
—REEEZ 4,621,250 x 53.85% (35% — (1 — 35%) ) — 9,793 2,478,750
ABREE 4,621,250 + 2,478,750 7,100, 000
A ERHImE 27,880,000 + 7,100, 000 34,980, 000
HBETEALE 34,980,000 x 10.00% 3,498, 000
ABERE 34,980,000 + 3,498, 000 38,478, 000




RIS TE T/ S —

SHSEEESBBREREARKE=-FIVIRAE

&5 1
2 . AEER =1
£ 7 R - BIRTE BARL #H = B Of € W E B &
BlEFEHED
A 3.00 51, 000. 00 153, 000
B S HER
A 3.00 44,000. 00 132, 000
B = H AR
A 1.00 34, 300. 00 34, 300
AR =L NOY
% 1.00 319, 300. 00 3,193
= 5 1E%HeH - 1.00K 322, 493. 00 322,493
&5 :2
B BMERR QEESZY) =1
£ 7 R - BIRTiE BAGL #H = B Of € W E B =
BIEHEE
A 2.00 217,000. 00 54,000
Sy 2tiE
B 1.00 217, 343. 00 27,343/4.70H / 8H
AR =L NOY
% 1.00 81, 343. 00 813
= 5 1E%HeH - 1.00K 82, 156. 00 82, 156




RIS TE T/ S —

SHSEEESBBREREARKE=-FIVIRAE

%5 :3
B BBETR b 1RXHY
% 5 R - AR R BAf = B {f £ W = B &
REE S4 kY 2L
B 1.00 3,276.00 3,276/2.00H / 8H
B S HER
A 1.00 44,000. 00 44,000
BB
A 1.00 34, 300. 00 34, 300
BIEBNF
A 1.00 32, 200. 00 32,200
B FRP D 70PSZE!
B 1.00 78,142.00 78,142 8H
GNSS;BIf 2 & DGNSS
B 1.00 25,575. 00 25,575
BEBE 1@ 100kHz
B 1.00 9, 256. 50 9, 256
P PR 2EDY
% 1.00 226, 749. 00 2,267
= 5 1YE%HeH - 1.00K 229,016. 00 229,016
&5 4
&F  BEARE (B 1HHY (25.3km)
% 5 R - AR R BAf = B {f £ W = B =
REE S4 kY 2L
B 1.00 3,276.00 3,276/2.00H / 8H
B FRP D 70PSZE!
B 1.00 78,142.00 78,142 8H
B S HER
A 1.00 44,000. 00 44,000
BB
A 1.00 34, 300. 00 34, 300
BIEBNF
A 2.00 32, 200. 00 64, 400
GNSS;BIf 2= & DGNSS
B 1.00 25,575. 00 25,575
BEBE 1M 100kHz
B 1.00 9, 256. 50 9, 256
P TR 2EDY
% 2.00 258, 949. 00 5,178
= 5 1YE%RES 1 25.30km 10, 439. 00 264,127




RIS TE T/ S —

SHSEEESBBREREARKE=-FIVIRAE

#S:5
& B (Eh) UL LRCORY Y,
% # s - BT A By 8 B ff & # = WoE
TEE S4 kY 2L
H 1.00 3,276.00 3,276/2.00H / 8H
AIEM FRP D 70PSZ! 3. 0GT
H 1.00 78, 142.00 78,142 8H
g
A 1.00 44, 000. 00 44, 000
IR B
A 1.00 34, 300. 00 34, 300
AEHTF
A 2.00 32, 200. 00 64, 400
GNSSAIfi &= iE DGNSS
H 1.00 25,575.00 25,575
EURF 1751 100kHz
H 1.00 9, 256. 00 9, 256
A £ Yol
% 2.00 258, 949. 00 5,178
& B EEBESN : 23.20km 11, 384.00 264,127
E#S:6
B WS BIER EED
% # s - BT A By 8 B ff & # H E W%
AR E TR
A 3.90 51, 000. 00 198, 900
g
A 12.70 44, 000. 00 558, 800
IR B
A 12.70 34, 300. 00 435, 610
AEHTF
A 5.50 32, 200. 00 177,100
A £ Yol
% 1.00 1,370, 410. 00 13,704
& B YEZERES : 1.00L 1,384, 114.00 1,384, 114




RIS TE T/ S —

SHSEEESBBREREARKE=-FIVIRAE

&5 .17
&% KERE (E=421U ) 1THEY (10#15)
£ 7 R - KT By = B Of & | W E B &
TEE S4 kY 2L
=] 1.00 3,276.00 3,276 2.00H / 8H
&M FRP D 70PSZE! 3.0GT
=] 1.00 78,142.00 78,142 8H
B S HER
A 1.00 44,000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34,300
BIEBNF
A 2.00 32, 200. 00 64, 400
AR L NOY
% 10. 00 224,118.00 22, 411
& it {EZ8EH : 10. 004 24, 652. 00 246, 529
%5 :8
& KERE RIEAE) 1HHY (7.54m)
£ 7 R - KT By = B Of & | W E B &
TEE S4 kY 2L
=] 1.00 3,276.00 3,276 2.00H / 8H
&M FRP D 70PSZE! 3.0GT
=] 1.00 78,142.00 78,142 8H
B S HER
A 1.00 44, 000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34,300
BIEBNF
A 2.00 32, 200. 00 64, 400
AR L NOY
% 12.00 224,118.00 26, 894
& B {EZBEAN : 7.50th s 33, 468. 00 251,012




RIS TE T/ S —

SHSEEESBBREREARKE=-FIVIRAE

59
2% KBERE (BW) 1HZEY (Bihm)
£ 7 R - KT By = B Of & | W E B &
TEE S4 kY 2L
H 1.00 3,276.00 3,276 2.00H / 8H
&M FRP D 70PSZ! 3. 0GT
H 1.00 78,142.00 78,142 8H
B S HER
A 1.00 44,000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34,300
BIEBNF
A 2.00 32, 200. 00 64, 400
AR L NOY
% 10. 00 224,118.00 22, 411
& it {EZBEA : 8. 00t s 30, 816. 00 246, 529
H5:10
&% RiE (REHREN), EEEYREE Eith) 1THHY (18.8#hm)
£ 7 R - KT By = B Of & | W E B &
TEE S4 kY 2L
H 1.00 3,276.00 3,276 2.00H / 8H
&M FRP D 70PSZ! 3. 0GT
H 1.00 78,142.00 78,142 8H
B S HER
A 1.00 44, 000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34,300
BIEBNF
A 2.00 32, 200. 00 64, 400
AR L NOY
% 1.00 224,118.00 2,241
& B {EZBEH : 18. 804 m 12, 040. 00 226, 359




RIS TE T/ S —

SHSEEESBBREREARKE=-FIVIRAE

&H5: 11
&% RiE (EERAE Q) FEih) 1HZEY (Bihm)
£ 7 R - KT By = B Of & | W E B &
TEE S4 kY 2L
H 1.00 3,276.00 3,276 2.00H / 8H
&M FRP D 70PSZ! 3. 0GT
H 1.00 78,142.00 78,142 8H
B S HER
A 1.00 44,000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34,300
BKE(FA1\—) 10mk 578
A 1.00 50, 500. 00 50, 500
BKTHEE (A4 /1\—) 10mK &
A 1.00 50, 500. 00 50, 500
rtmEyg
A 2.00 26, 500. 00 53, 000
AR L NOY
% 5.00 313,718.00 15, 685
& B {EZBES - 8. 00t s 41,175.00 329, 403
H5 12
&% RiE (EEHREQ), EEEYHAEQ) B 1A% Y (15 94h )
£ 7 R - KT By = B Of & | W E B =
TEE S4 kY 2L
H 1.00 3,276.00 3,276 2.00H / 8H
HEE FRP D 70PSZ%! 3.0t
H 1.00 78,142.00 78,142 8H
B S HER
A 1.00 44, 000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34,300
BIEBNF
A 2.00 32, 200. 00 64, 400
AR =L NOY
% 1.00 224,118.00 2,241
& B {EZBEH : 15. 90K = 14, 236. 00 226, 359




RIS TE T/ S —

SHSEEESBBREREARKE=-FIVIRAE

H5:13
2% BKAE 1BZY (250m)
£ 7 R - KT By = B Of & | W E B &
TEE S4 kY 2L
H 1.00 3,276.00 3,276 2.00H / 8H
&M FRP D 70PS%! 3.0t
H 1.00 78,142.00 78,142 8H
B S HER
A 1.00 44,000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34,300
BIEBNF
A 1.00 32, 200. 00 32,200
BKE(FA1—) 10mk 578
A 1.00 50, 500. 00 50, 500
BKTHEE (A4 /1\—) 10mK &
A 1.00 50, 500. 00 50, 500
rtEyg
A 1.00 26, 500. 00 26, 500
Mo FHEEDY
% 5.00 238, 000. 00 11,900
& B 1E%HEH : 250.00m 1,325.00 331, 318
H5: 14
& BANERAEHBRER (Eih) 1THHY (8. 1H#m)
£ 7 R - BAKTiE By = B Of & | W E B =
TEE S4 kY 2L
H 1.00 3,276.00 3,276 2.00H / 8H
&M &l D 150PSE! 15. 0GT
H 1.00 132, 622. 00 132, 622 8H
B S HER
A 1.00 44, 000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34,300
BIEBNF
A 2.00 32, 200. 00 64, 400
AR L NOY
% 2.00 278, 598. 00 5,571
& B {EZBEAN : 8. 10t 35, 082. 00 284,169




RifigR- T/ Avr—> SHSEERSBEERES TS TRE

H5 : 15
%ffl‘ : Eit*iigmi} 1it%[‘}
& g K - BAIKTE B B = B @ * & W E H %
RIS AN
A 9.00 34, 300. 00 308, 700
REE 54 kY 2
B 9.00 6, 386. 00 57,474/ 6.00H / 8H
& B 1EZBER - 1.00 366, 174. 00 366, 174
&H5:16
B SRR 1X&Y
4 g K - BT B B = B @ * & W E w %
SHTERER
= 1.00 6, 333, 960. 00 6, 333, 960
& it EZBER - 1.00 6, 333, 960. 00 6, 333, 960
&H5 17
AT BLARRMER THBY (13)
4 g K - BAIKTE B B = B @ * & W E w %
FEHED (B%E)
A 1.00 62, 200. 00 62, 200
e (A)
A 1.50 55, 200. 00 82, 800
A (B)
A 1.00 45, 300. 00 45, 300
& (C)
A 1.50 35, 600. 00 53, 400
EBERAME FHHEDY
% 1.00 243, 700. 00 2,431
& B EZBER - 1.00= 246, 137.00 246, 137




RIS TE T/ S —

SHSEEESBBREREARKE=-FIVIRAE

&5 :18
& RREAIERERE 1RXEHY (A=)
2 Lo R - KT By = B ff € &8 # H %
FEHED (55
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.50 55, 200. 00 82, 800
AR (C)
A 1.00 35, 600. 00 35, 600
EXRARE FEEDY
% 1.00 180, 600. 00 1, 806
& it EZBER - 1. 00 182, 406. 00 182, 406
H5:19
B |MESMER (E=4 Y VTRE) 1KY
2 Lo R - KT By = B ff € &8 # w %
F{EHED (55
A 0.60 62, 200. 00 37,320
A (B)
A 6.00 45, 300. 00 271, 800
Hifrg
A 11.00 31, 600. 00 347, 600
EXRARE FEEDY
% 1.00 656, 720. 00 6, 567
& it EZBER - 1.00= 663, 287. 00 663, 287
H5:20
& MEEER (EERAE) 1LY
2 Lo R - KT By = B ff € &8 # w %
F{EHED (55
A 0. 60 62, 200. 00 37,320
A (B)
A 7.40 45, 300. 00 335, 220
Hifrg
A 13.80 31, 600. 00 436, 080
EXRARE FEEDY
% 1.00 808, 620. 00 8,086
& it 1EZBER - 1.00 816, 706. 00 816, 706




RIS TE T/ S —

SHSEEESBBREREARKE=-FIVIRAE

&H5: 21
%ffl‘ : #E%%VEEJZ (%@ﬂi’.?ﬁ]ﬁ) 1 it% LJ (12T'—t)
% FR B - BIKSTE B = B i * % i) w =
FiEHREM (BED)
A 4.00 62, 200. 00 248, 800
HEm (B)
A 11.00 45, 300. 00 498, 300
Es 201
A 11.00 31, 600. 00 347, 600
EHRARE FHIHEDY
% 1.00 1, 094, 700. 00 10, 947
& it 1EZE8EH - 1. 00X 1,105, 647. 00 1,105, 647
&H55:22
2 . REEGRM IEE PG
% FR B - BIKSTE B = B i * % i w =
ZEEGRM FRP D 180PSZ! 10.0GT
=] 6.00 149, 786. 00 898, 716 8H
MM 20
% 0.50 898, 716. 00 4,493
& B 1EZE8EH - 1. 00X 903, 209. 00 903, 209
H5:23
2 EBHRER B
% FR B - BIKSTE B = B i * % i w =
EHHERE
= 1.00 150, 000. 00 150, 000
& it {EZE8EH - 1. 00X 150, 000. 00 150, 000
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